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Answer the following questions, Please make any nocessary assumptions for those
questions whose information is not sufficient for vou o find owt the selutions.

I. Suppose there are & firms, and fiem f's cost funclion can be represented as:

1
cg-{y,-}=%+z. =t N

And there are alzo & consumers in the market, whose utility funection and budget
constraints are as the following:!

Ulyaxd=Ay%, i=f..N

Py +Px =2i

¥
x, refers to the covsumer’s demand on other gonds, and consumer i hay income
2=l
Anzwer the following questions:
a. (5% Calculate the marginal cost, variable cost, and average cost functions for
firm 1.
b. {10%:) Derive the industry supply curve.
e, £ 10%) Derive the market demand fonction.
il (5%) What are the equilibrivn price and guantity?

2. Two firms (A and B) are considering bringing out competing brands of a healthy
cigaretie. Payoffs to the companies are as follows (A's profits are given first).

Fitm B _
_Produce | Don't Produce
Fitm Produce 33 5.4
A Don't Produce 4.5 2,2 ]

a. [10%%) Does this game have any MNash equilibrium? Please explain.

b, (5%) Dues this game present any first-mover advantages for either fimm A or
firm B?

<. (5% Would firm B find it in its interest w0 bribe firm A to stay out of the
market?
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J. The foliowing three arguments are about the “burden of the national debt.”
i~ Our children and grandchildren will be burdensd by heavy interest
payments, MHigher taxes wil] be necessary 1o make these payments.
i - It will ruin the nation when we repay the ciormous debt,
ii ~ Like any family or business, a nation has a limited CRpaCity 1 borrow,
If it exceeds this limi, it is in danger of being unable to pay its creditors.
It thay go bankrupt, with catamitons CONBEYUCISES,
4. Pointout the emors in each argument, §10%%)
Under what ¢lreumstance will a budgel deficit result in "erowding ow™?
Eaplain why it may be a seriouy problem. {5%4)
€. Isthere a true burden of the portion of the national debil owed to oreigners?
(5%)

4. The Laffer curve is the relation between the tax rate ¢ and tax revernue T The
Lajfer effect ocours when the Laffer curve slopes downward, i.e., when an
increase in the tax rate causes such a substantial reduction in the amount of labor
supplied that tax revenue falls, Ifthe demand For labor is perfectly clastic at
wege W and the supply of iabor S{w) is an upward-sloping function of the
aller-tax wage rate so that &5 /aw =0 and w=(] - £)w , then the tax revenne
received by the government is 7 = #S(w)W .  Given (his 1ax revenue function,
what must be true of the relationship between the elasticity of labot
supply (w/ SWdS/ dw) and the tax rate 7, for the Laffer effect (0 occur? {15%)

5. The I15-LM mode] can be described by the goods and money market clearing
cquations:
ISV, Y = I = 5P %) e D=0
. S

- LMT* ) = Ly -2 o
' g
Whete J = real investment expenditure, § = real savings, 7 = real governient
deficil, L = demand for real money balanee, A# = nominal supply of moncy, p =
price level.  The equilibrium leve] of income combined with the ecuilibrium
rale of interest (F*, r*) simullanienusly clears both the goods market and (he
money market.
Mow consider a classical macroecanomie mode! in which the leve] of income is

fixed at the fuli employment level ¥y, and the price level pisavarjable. Thus
firr ghq; _ciasslcal model, the salwiions are:

F*=p* (DM Yy,
rere DM ¥y
tind the comparative statics impact of a change in the money suppky A7 on this

chassical model (i, find & */83 ¥ and dp*iandSy, Interpret your results,

(15%)




	MA04_91_02_1
	MA04_91_02_2

